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SECTION-1

PART — | : ESSAY IN ENGLISH

Q1.  Write an essay in about 300 words on any one of the topics mentioned below:- (30 Marks)

Growing menace of Cyber Crimes in the World.
or
Indian Mars Orbiter Mission — Latest steps.
or
Digital Governance in India.
or
Indo Bhutan Relations — Invaluable Strategic Partnership.
or
Islamic State in Irag and Syria — A New Dimension of Threat to Global Peace.

PART — Il : ENGLISH COMPREHENSION AND LANGUAGE

In this section, you have one short passage. Read carefully the passage and then answer the
guestions on the basis of what is stated or implied. You are required to answer all the five questions

based on the passage. Each question carries Two (2 ) Marks:- ( 10 Marks)

PASSAGE —|

To avoid the various foolish opinions to which mankind is prone, no superhuman brain is
required. A few simple rules will keep you free, not from all errors, but from silly errors. If the matter is
one that can be settled by observation, make the observation yourself. Aristotle could have avoided the
mistake of thinking that women have fewer teeth than man, by the simple device of asking Mrs Aristotle
to keep her mouth open while he counted. Thinking that you know, when in fact you do not, is a bad
mistake, to which we are all prone. | believe myself that hedgehogs eat black beetles, because | have
been told that they do; but if | was writing a book on the habits of hedgehogs, | should not commit myself
until | had been one enjoying this diet. Aristotle, however, was less cautious. Ancient and medieval
writers knew all about unicorns and salamanders; not one of them thought it necessary to avoid dogmatic
statements about them because he had never seen one of them.

Q2. The author portrays mankind as:-

(a) very intelligent (b) nervous and weak
(c) having superhuman qualities (d) by and large, lazy and ignorant

Q3. The authorisin favour of drawing conclusions on the basis of:-
(a) reasoning (b) empirical evidence
(c) study of eminent thinkers (d) discussion and consultation

Q4. According to the author, unicorns and salamanders:-
(a) existed in the past but now have become extinct (b) never really existed

(c) are invisible (d) have caused strange
g
stories to be written
about them



Q5. The author implies that:-
(a) hedgehogs eat black beetles
(b) he is writing a book about hedge hogs
(c) hedgehogs do not really eat black beetles
(d) he is never seen a hedgehog eating beetles

Qeé. The attitude of the author is:-

(a) philosophical (b) cultural
(c) scientific (d) commonsensical
SECTION -1l (60 Marks) 3& 60

In this section you have 110 Questions. Question Numbers 1 to 10 carry One (1) mark each.
Balance Question Numbers 11 to 110 carry half a mark (1/2) each:-

Q1. Find the odd one out:-

(a)  TRAINING - GARNINIT
(b)  SURROUND - DRUORNUS
(c) DROWNED ‘. & DORNNED
(d)  WATERY - AWETYR

Q2. A sum of Rs 700/- has to be used to be given as cash prizes to the students of the school for the
overall performance. If each prize is Rs 20/- less than its preceding prize, what is the least value

of the prize:-
(a) Rs 30/- (b) Rs 40/- (c) Rs 60/- (d) Rs 80/-
0,3 In a family, there are five members, viz parents and three children. The members are A,B,C,D& E

out of which two are males and three are females. ‘A’ has three children, two daughters & one
son. ‘C’is ‘B’s son, ‘A’ is D’s father. How is ‘E’, related to ‘B’:-

(a) son (b) daughter (c) sister (d) mother
Q4. If * SECRET is written as ‘CRETSE’ then ‘CHOICE’ is written as:-
(a) OICHEC (b) OHCEIL (c) YSLRYV (d) OICECH

Q5. Roshan is taller than Hardik who is shorter than Susheel. Niza is taller than Harry but shorter than
Hardik, Susheel is shorter than Roshan. Who is the taller:-

(a) Roshan (b) Susheel (c) Hardik (d) Harry
Qe6. In a family there are five members, viz parents and three children. The members are A,B,C,D& E
out of which to are males and three are females. ‘A’ has three children, two daughters & one

son. ‘C’ is ‘B’s son, ‘A’ is D’s father. Who is D’s mother:-

(a) B is D's mother (b) E is D’s mother (c) Cis D's mother (d) Ais D’s mother



Q7.

Qa.

If inacodeCOVET is written as * FRYHW’, which word would be written as ‘SHDUQ':-
(a) QUAKE (b) REPAY (c) VKGYR (d) PEARL
A gardner has 1000 plants. He wants to plant them in such a way that the number of columns

remains the same. What is the minimum number of plants that he needs more for this purpose:-
(a) 14 (b) 24 (c) 32 (d) 34

Choose the best way to complete the sentences below:-

Qo.

Q 10.

Q11.

Q12.

Q13.

Q 14.

Q15.

Q 16.

Q17.

Please tell me .......

(a) where is the bus stop (b) where the bust stop be
(c) where stops the bus (d) where the bus stop is

I told him .......

(a) what the homework was (b) what was the homework
(c) what was to be the homework (d) what is the homework

A base ball team has lost 7 games and has won 13 games. What per cent of the games played did
they win:-

(a) 35 (b). 65 (c) 50 (d) 30

60% of 35 is what per cent of 400:-

(a) 5% (b) 10 % (c) 12 % (d) 6

If 1 out of every 50 people who play a certain games win a prize, what per cent of people lose:-
(a) 1% (b) 2% () 99% (d) 98%

15% loss on selling price is what percentage loss on cost:-

(a) 17.64% (b) 20% (c) 30% (d) 13.04%
If Ashok makes a profit of 25% on the selling price, what is his profit on cost price:-

(a) 20% (b) 25% (c) 331/3% (d) 30%
Find out the ratio whose value is 2/3 and the antecedent is 18:-

(a)  18:27 (b)  16:35 () 7:24 (d  8:22

A:B=2:3,B:C=4:5,C:D=6:7find the ratio of Aand D:-

(a) 4:13 (b) 16: 35 (c) 7 24 (d) 8:22



Q 18.

Q19.

Q 20.

Q 21.

Q22.

Q 23.

Q 24.

Q 25.

Q 26.

Q 27.

Q 28.

Q 29.

A, B and C invested Rs. 500,630 and 700. If A gets Rs. 75 as profit, what will C get:-

(a) Rs. 57 (b) Rs. 105 (c) Rs. 90 (d) Rs. 126
The average of the following five numbers is 8. Find the missing numberin 7,5,?,3,12:-
(a) 14 (b) 8 (c) 13 (d) 12

The average weight of A, B and C is 45 Kg,A and B is 40 kg and of B and C is 43 kg. What is the
weight of B:-

(a) 17 kg (b) 26 kg (c) 20 kg (d) 31kg

Find out the capital required to earn a monthly interest of Rs. 600 per month at 6% simple
interest:-

(a)  Rs10,00,000 (b)  Rs1,20,000 (c) Rs1,10,000 (d)  1,30,000

The ratio between the present ages of Sudhir and Madan is 4 : 5. If after five years, the ratio of
their ages becomes 5 : 6, what is the present age of Sudhir:-

(a) 18 years (b) 20 years (c) 22 years (d) 21 years

5 years ago, the age of Lata was two times the age of Arun. 10 years hence from today the age of
Lata will be 4/3 times the age ofArun.. What,is the present.age of Lata:-

(a) 20 years (b) 22 years (c) 24 years (d) 16 years
Air : Atmosphere : : Water : ?

(a) Island (b) Earth (c) Ocean (d) Drop
Light : Sun:: heat:?

(a) Electricity (b) Moon (c) Fire (d) Stars
Trouble : Safety : : Freedom : ?

(a) Independence (b) Slavery (c) Liberty (d) Patient
House : Wall : : Wall : ?

(a) Cement (b) Sand (c) Roof (d) Brick
Soft : Sponge : : Sharp : ?

(a) Blunt (b) Cut (c) Pierce (d) Knife
Army : Soldier : : Galaxy : ?

(a) Planet (b) Satellite (c) Meteor (d) Star



Q30. Newspaper:press::Cloth:?

(a) Cotton (b) Mill (c) Tailor (d) Market

Which of the phrases: (a), (b), (c) and (d) given below each sentence, should replace the phrase printed
in bold type to make the sentence grammatically correct? If the sentence is correct as it is, mark ‘E’as

your answer:-

Q31. Technology must use to feed the forces of change:-

(a) must be used to feed (b) must have been using to feed
(c) must use having fed (d) must using to feed

Q 32. Heistooimpatient for tolerating any delay:-

(a) to tolerate (b) to tolerating
(c) at tolerating (d) with tolerating

Q 33. Whom did you intend to offer the job, besides the two young boys:-

(a) Who are you intending to (b) Whom do you intended to
(c) Who do you intend for (d) No correction required

Put the given sentences in each of the following questions in proper order:-

Q34. (a) I will give you acopy ofit.
(b) The book was published in New York.
(c) It is a very interesting book.
(d) It deals with mankind’s political future.

The proper sequence should be:-

(a) DCBA (b) CBDA (c) BDCA (d) DBCA
Q35. (a) They were generally fed in the afternoon.

(b) But father said that it was most interesting to see them being fed.

(c) Gopal wanted to see the tigers and the lions first.

(d) When we entered the gate, it was difficult to decide which way to go first.

The proper sequence should be:-

(a) ACDB (b) DCBA (c) BCDA (d) CBAD

Each of the following sentences has a blank space and four words given after the sentence. Select
whichever word you consider most appropriate for the blank space and indicate your choice on the

Answer Sheet :-

Q 36. The passengers were afraid but the captain ....................... them that there was no danger:-

(a) promised (b) advised (c) assured (d) counseled



Q37. Do you knOW ....cccouvuemrennnns

(a) where she comes from (b) where does she come from
(c) where from she comes (d) from where does she come

Q38. Studentswillgoonan ...
(a) excusion (b) excurtion (c) ascursion (d) excursion

Choose the word which is most nearly the same in meaning as the word given in capital letters :-

Q39. PROFANE:-
(a) Assert (b) Benefit (c) Lengthen (d) Desecrate
Q40. VIA MEDIA:-

(a) By the way (b) Through the communication
(c) A middle course (d) The reverse order

Q41. INTOTO:-
(@) Inthe heart (b) In space (c) Within the walls (d) Entirely

Against each key word aré givén four options ‘a’ to ‘d’. Choose the option which is OPPOSITE IN
MEANING to the key word:=

Q42. Legend:-
(a) Allegory (b) Fictitious story (c) Fact (d) Parable
Q43. Eccentric:-

(a) Normal (b) Deviating from normal practice
(c) Peculiar (d) Abnormal

Q44. Licentious:-
(a) Libertine (b) Restrained (c) Profligate (d) Economical

Each of the following idioms is followed by four meanings. Indicate which is correct :-

Q45. To read between the lines:-

(a) To suspect (b) To read carefully
(c) To understand the hidden meaning of the word (d) To do useless things

Q46 To meet one’s waterloo:-

(a) To meet a strong adversary (b) To meet with humiliation
(c) To die fighting (d) To meet one’s final defeat
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Read each sentence to find out whether there is any error in it. The error, if any, will be in one part of

the sentence. The alphabet number of that part is the answer. If there is no error, then the answer is
lEl:_

Q47. Chinese(a)/ are(b)/ fond of(c)/ chowmin(d)/ No error(e).
Q48. My mother(a)/ is cooking (b)/ in a(c) / Kitchen(d)/ No error(e).
Q49. The more(a)/ | learn history(b)/ the more(c)/ | get bored(d)/No error(e).
Q50. To fight tooth and nail:-
(a) To fight a losing battle (b) To fight heroically
(c) To make every possible effort towin  (d) to fight cowardly
Q51. The first battle of Panipat was fought between the forces of:-
BT 9T T g€ Feeforad e a Al & A ge-

(a) Akbar and Hemu (3@ 3iv %) (b) Abdali and the Marathas (sm@eErEl i wwsrET)

(c)Humayun and Sher Shah Suri (g3 3 3% == g&) (d) Babar and Ibrahim Lodhi @mv 3t zaifesr &)

Q52. Which of the following Sikh Guru rose against Shah Jahan and defeated an imperial army at
Sangrama, near Amritsar, in the first half of 17" century:-

78 &8 & TEd o A Freefefen 9w wF @ faa o 3, R e vem @ 9 dvee @ smEeR & owm fue
HIRET H AN G I WS fehdn-
(a) Guru Arjan Dev (@® 3 2@)  (b) Guru Har Gobind (I = 7ifd=)

(c) Guru Har Rai (7% &7 1) (d) Guru Har Kishan (® = frem)
Q53. Which of the following battles marked the real beginning of the Mughal Empire in India:-
frfofas fFe g2 & e e &1 wRe # fasmr @1 9er gee 2 -

(a) Battle of Talikota (arit=rer 1 g€) (b) Battle of Haldi Ghati (z=ét 71 7=)

(c) First Battle of Panipat (4eem a9 =1 g€ )(d) Second Battle of Panipat F&w T =1 7<)

Q54. Two of the great Mughals wrote their own memoirs. They were:-
frforfas o 21 soer arewmet 3 s St @ fomar # -
(a) Babar and Jahangir (amr siit siiR) (b) Humayun and Jahangir (g9 3iiv s=HiR)

(c) Babar and Humayun (av 3% #g) (d) Jahangir and Shah Jahan (s 3ic smester)

Q 55. Which of the following two kingdoms were conquered by Akbar:-
frafafEs e o ool & s 3 fawm aifeer =i -

(a) Bijapur and Khandesh (&= 3 @=2w) (b) Ahmadnagar and Golconda (3@#eRR 3t Tiera==)

(c) Khandesh and Ahmadnagar (=% 3k s@ser)(d) Khandesh and Golconda (@@= sife airera=r)



Q 56.

Q57.

Q 58.

@58.

Q 60.

Q61.

Q 62.
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Constitutionally, who has the power to make a law on the subject mentionable in the union list:-
WA AfEUE # AR, T a9 @ e sfuEr # -

(a) Lok Sabha (7 &) (b) Parliament (wa%)

(c) Rajya Sabha (u=a &) (d)Legislative council (fErem afwz)

National Development Council of India was constituted on:-

A9 ¥aeEe FARE AE SR F IS -

(a) August 16, 1950 (3mr 16, 1950) (b) April 1, 1951 (31w 1, 1951)

(c) August 6,1952 (3 6, 1952 ) (d) August 16, 1952 (3rT 16, 1952)

In India, when both offices of President and Vice- President happen to be vacant simultaneously,
who will discharge the duties of President:-

Wl TR & afE aegufy @ 3w Aty 97 f @R aw oK R o A, @ 3w wafufy § Feaffes ¥ @
gl &1 FEWR FH AN -

(a) Prime Minister (wer==3t) (b) Union Home Minister (#= I8 #4r)

(c) Speaker of Lok Sabha (@& =f@x) (d) Chief Justice of India (Fiw s s =fear)

Who had the longest tenure as Speaker of Lok Sabha:-
Frfofas & & fore gdp 3-SR BE 1 99 7% @90 9 G -

(a) G.V.Mavlankar(sT 4 sraea) (b) G.S. Dhillon (¥ t& feeai)

(c) Balram Jakhar (se@m wi@g)  (d) P.A. Sangma (4 ¢ &)
Sarkaria Commission was concerned with:-

IR FAE FefaRas fea v & |afus # -
(a) Judicial Reforms (=nfa= fefm) (b) Financial Reforms  (faferr Remma)

(c) Centre- State Relations (F= s @) (d) Electoral Reforms (7wt o)
Jalal =Ud-Din Muhammad Akbar was proclaimed Emperor in:-

AT - I - o Aewie srwae &0 aemE FE 8 F a9mr -

(a) 1556 AD (b) 1557 AD  (c) 1558 AD  (d) 1560 AD
Who is the present Chief of the Air Staff of Indian Air Force:-

IS T WRAE g T F AE FA -

(a) Air Chief Marshal FH Major (va¥ 1% #iiel TF @ 35K

(b) Air Chief Marshal PV Naik  (va® =i e 9t & =)

(c) Air Chief Marshal Arup Raha (v <% #ioe 3r€9 )

(d) Air Chief Marshal N A K Browne (TR 9 #foe O ¢ & #13+ )
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Q63. Within three decades after the death of Aurangzeb, the Mughal Empire in India had almost
disintegrated entirely. Whose invasion dealt a staggering blow to the empire:-
S ACE AGST & A T AFGIA A TF AP Foodd T FOGEA Y€ A TN ST AR | et
form arEmE @ wWel A 9A i SREaR s w2 -
(a) Ahmad Shah Abdali (srEsemme s@aifr) (b) Nadir Shah (et @)

(c) Nizam -Ul-Mulk = - 3 - 9=%) (d) None of the above (37 # & =g =)

Q64. Who among the following, after succeeding to the throne, was known as emperor Shah Jahan:-
frfafaa & & 9 & SEwE &1 9% B FH W I WEAE & AW d FE A= oA -
(a) Jalal =Ud-Di'n (@t - & - @F) (b) Nor-Ud-Din Muhammad (| - &- &4 #E=rE)
(c) Muhi-Ud-Din Muhammad (#i1-3-4 #e=e) (d) Khurram Shaib-Ud-Din (g afes-3-49)
Q65. English is the official language of which of the following states of India:-
= o e W o= & s s -
(a) Karnataka (@fes) (b) Manipur (#virg)
(c) Arunachal Pradesh (3m®um=rer w2r) (d) Nagaland (mmeiz)
Q 66. Finance commission in India is setup from time to time:-
WA fafe wfem 1 @ aig o Tise A # -
(a) To lay financial policies of union gévt.
(st R Y faeie den e # fer)
(b) To evolve a satisfactory tax structure for economic development of the country.
(VR #1 3d FE FY A5 T & oy dod Haedr # dUR e & fow)
(c) To promote foreign trade.
(fasdtt =mr & 7em & forr)
(d) For transfer of economic resources from Centre to States.
(snfder dsmesl Y @ & avdl FF A @ o)
Q 67. The method of proportional representation is adopted in India in the election of:-
yEEe dfiseeE @ ade wd § Fefafas e 9w & 9mw @ e w@e | e e 2 -
(a) Governor (Tr=aHre ) (b) Prime Minister (gemrs3T)

(c) President (rgmfa) (d) Vice President (37 argufa)
Q 68. Which one of the following Articles empower the President to appoint Prime Minister of India:-
feafafaa form & s swdm ToReT & agnfs & gueEE # e e @ sfier B e 2 -
(a) Article- 74 (anféswer - 74)  (b) Article — 75 (anféwar - 75)
(c) Article — 76 (snféFar - 76)  (d) Article -77 (snféwer - 77)
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Q 69. Before his coming to Akbar’s court, MiyaTansen was in the service of:-

fidl A8, A AENE ® SER § gE B § e e aom & sEr § wie -
(a) Raja of Jaipur (5@ =)

(b) Raja of Jodhpur (sirergz T=)

(¢) Rani of Gondwana (TirzarT &1 )

(d) Raja Ramchandra Baghel of Bhatha (T T ane, amear)

Q70. When offered the choice between death and conversion by Aurangzeb, the Sikh Guru chose the
former and was executed. Who was this Guru:-
s g7 B g yeEE, o wee A AT @Y a9 ) gEaed fGE o F d F A HT S a9 Fga A
v fe @ % ww fear -

(a) Guru Arjan Dev (7€ 3= 29)(b) Guru Hargobind ([ #wmfae)

(c) Guru Teg Bahadur (T 3 @#1E) (d) Guru Gobind Singh (& Mfae féz)

Q 71. The Third Battle was of Panipat was fought between the:-
ffofas & & fFm - fFa & 99 9Fig &1 99 g8 @9 T -
(a) Afghans and the 'Marathas( sremfEar i s #r &)

(b) Afghans and the Sikhs (srFnfaal siv faat & &)
(c) Marathas and Mughals under Shah Alam Il (&t 3 Fw&l & &9 WME EH-= & AT #)

(d) None of the above (=% & =g it =87)

Q72. To expressinthe modern terms, the Mughal Forces were composed of:-

S WO & WA Ao A awied & 9 R wie e 9
(a) Cavalry and Infantry (Fa=@ s =91 )

(b) Cavalry and Artillery (Fde 3R AR

(c) Navy, Artillery and Infantry &4, sERQ 3iiv gh=er)

(d) Navy, Artillery, Cavalry and Infantry (E#=1, 3R, F41 7 Fdwd)

Q73. Who among the following, after marriage, became to be known as’Mumtaz’ the beloved wife of

Shah Jahan:-
o # § & wEeTEl § faaw F gvee s @ AR @ ST o o -

(a) Anjuman Banu Begam (3t75%= @ 3e7) (b) Asmat Begam (3 )

(c) Ladli Begam (wmesir 3m) (d) Mehr — Un- Nisa @##t- 37 - far)
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Q74. Recently Reserve bank of India had decided to withdraw from the circulation all currency notes
issued before:-
festa & s fear ¥ o voR & T S F (§9) F wm A9 D 0 A, 392 A o & REen fhar -
(a) 2006 (b) 2007
(c) 2004 (d) 2005

Q75. |India’s nuclear capable ballistic missile ready for induction into the Army is:-

T & A MR A MEEd S MR 3§ I Fe # JGR 2 -

(a) Nag (@rr) (b) Bharmos (&) (c) Prithvi (3=4t) (d) Agni-IV (iR - 4)
Q76. In 2014 India created history by becoming 1% nation in the world to successfully reach Mars Orbit
on its maiden attempt. Name the Launch Vehicle used for the same:-

WRT @9 2014 § §IG JE W 9B TAE A AN J9F A WA AN TEAr A 99 I B CWEEE F WA B

forw fope amer @ &1 sEEE foRar T -
(a) Aryabhatt (smheer) (b) PSLV-C 25 (4 wq uvat &1 - # 25)
(c) GSLV (57 wa wa 4r) (d) PSLV-II (9 wa wa & -2)

Q77. Name the Indian Environmentalist who won the prestigious, Golden Environment Prize , also
known as ‘Green Nobel’:-

‘w i [weER T i e EARLA W G € e s et @ fier 2 -
(a) Romesh Aggrawal @ 3mm@me) (b) Sundar Lal Bahuguna (=% == agapm)

(c) Rajender Singh @=s f&7) (d) Medha Patkar (&= west)

Q 78. The longest railway platform in the World is:-
AR FT GG T Y SR FE R # -

(a) Kharagpur (@=g) (b) Monteral (Fméer)
(c) Gorakhpur (diwETR) (d) Shenghai (arems)

Q79. Inlast Lok Sabha election, BJP won the following number of seats:-

e s & Fafee & 3 T J9eE et # E5e e e e -

(a) 272 (b) 300
(c) 295 (d) 282
Q80. Telangana isthe new born India’s state. It has become the country’s .................... state:-

B B A ASAET T FY ST T AT AT W7 AT W T FT 5T & T B -
(a) 27~ (b) 28"
(c) 30" (d) 29"



Q 81.

Q 82.

Q 83.

Q 84.

Q 85.

Q 86.

Q 87.
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With which of the following country India signed pact on cooperation in the field of environment
and remote sensing in July 2014:-

9RT F F A 2w F Ay watawr s e 3T # an ¥ 5o 2014 # o arT -
(a) South Africa (@ sifiwr)  (b) Brazil @msiie)
(c) Norway (Ara) (d) Australia (sm=efermr)

India’s largest ever indigenous War Ship was commissioned by Prime Minister Shri Narendra
Modi in August 2014:-
WRA & TUF WA S Ao AT F AT 2014 F @ g@ud @ seaee fohan -

(a) INS Godavari (3% v vq TeEd) (b) INS Mumbai (3¢ o= g %)

(c) INS Kolkata (31 v va e (d) INS Ranjit (3¢ v va Toredd )

With which country India signed a civil nuclear agreement in September 2014:-
WA J foFa 3w & Ay e |t -

(a) USA (s@fe) (b) Russia(¥®) (c) France (%1@) (d) Australia (smfermr)
Who is the President of Sri Lanka:-
ST 1 T FA F -

(a) Mahinda Rajapaksa @fe=s-arswa#r)(b).Chandrika Kumaratunga (@f~esr FaRgm)

(c) Maithripala Sirisena (#zufuren &ifé=r)(d) Ranasinghe Premdasa (o Seemrn)
Thinnest known LED is .................... times smaller than the thickness of the human hair:-
& gl ve € 8 fRee o o A @ A & o aaer #-

(a) 100 times (100 TOm) (b) 1 Lakh times (v& @ma om)

(c) 10,000 times (10,000 ) (d) 1000 times (1000 [Um)

Who is the Chief Justice of India:-

HRE & e I w2 -

(a) P Sathasivam (9t @rafaras) (b) RM Lodha (3% @ rer)

(c) Altamas Kabir (3= Fa) (d) HL Dattu (v=r oo 29)

The Battle of Buxar, which enabled the English to acquire a firm hold of Bengal, was fought
between them and the combined forces of:-

TR g€’ & IR efoias e S e A e B st wER & Raerw 3@ fen-

(a) French and Mir Qasim (¥ 3R X F1eT)

(b) Siraj-Ud -Daula and Mir Qasim (EreT - 3T - geen 3 AR )

(c) Shah Alamll, and Nawab of Oudh (FE e -2 R I9Y F A9H)

(d) Shah Alam 1I, Mir Qasim and Nawab of Oudh (@& 3eRT-2, X FE 3R I2u & 794
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Which one of the following is the central theme of the ‘Chipko Movement’, started by Sunderlal

Bahugunain 1973:-
forer e o fF g AW agmr A gF oo, 9w e @ A o gem 2 -

(a) Conservation of river water @&t & 9Fit it @=1) (b)  Protection of birds (afert =t ==mr)

(c) Protection of cheetahs (Siar =i &/=) (d) Conservation of forests (@ ==ma)
Which of the following animals has, on June 31, 2014, been declared as the state animal of
Rajasthan:-

frfofas & & #9 & SIFER F 31 TAE 2014 F T T F T AR F a2 @ # -

(a) Goat (@=®) (b)Camel (F) (c) Cow () (d) Horse (wrer)

According to a study by the Associated Chambers of Commerce and Industry of India
(ASSOCHAM ) recently, which state is fast emerging as a major destination for domestic tourists:-
vANYes dER T FRW T T=fes T SR (Tovw uw o @ ve ¥ o) @ uw @ee 3 Feftas e
T FT UF I § FgA T F@RH e o v faar 2 -

(a) Maharashtra (werrg )(b) Rajasthan  (arseer)

(c) Gujarat (o) (d) Madhya Pradesh (wem w2m)
Which disease was the biggest Killer in 2013 /with almast 5.5 lakh deaths:-
fforfiae fora §908 & & 2013 % @98 SGET THAET 5.5 ARG AN AR AT -
(a) HIV/AIDS (v 3 &t / weg) (b) T.B. (& )
(c) Malaria (w=ifear) (d) none of the above & # & =g =7#)
Which country in the World has had maximum No of air accident in the year 2014:-
FT H AW F 2014 F GG FET A BEH BY: -
() Thailand (ar=z) (b) Vietnam (=) (c) Malaysia (Fraifimar) (d) Pakistan (uifer=r)
‘Pravasi Bhartiya Diwas’ was celebrated recently at:-
B # A yaE YRy fTew F § W § e -
(a) Ahmedabad (sm#emEE) (b) Pune (397) (c) Gandhi Nagar (it =@%) (d) Delhi (f2=h)

Which of the following is the indigenously developed light combat aircraft that would officially
replace the MiG- 21 FL fighter jet by end of 2014:-

Freafafas % & a8 FiF @1 @R s w9 FAE WeTe WA A @  dNT- 21 UF oW SEe Se @ 2014 #
aifter o e 2 -

(a) Miraj (f=1) (b) Tejas (35/@) (c) Hawk (/&)  (d) Rafel (¥#«)
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Q95. Which of the following state has become the first to adopt the provisions of the Lokpal Act with
the Vidhan Sabha passing the Lakayukta Bill-2014:-
qaH gEe & @ 99 @ e dee G & wfeusl oo s faue s # e fen -

(a) Madhya Pradesh (@en wewr)  (b) Haryana (zfearm)

(c) Uttarakhand (3=wmae) (d) Karnataka (&Te=)

Q96. What is the Vedic name of River Ravi:-
81 el | AT el & R AR # SET S 9T -
(a) Purushni (g&w) (b) Chandrabhaga (z=~mm)

(c) Arjikiya (srirear) (d) Saraswati (&)

Q97. Which among the following became the first State to legally ban smokeless tobacco:-
HRE F FH G U9 F g R @ 4y & T F afaeEe a) W a9 -

(a) Sikkim (f&feF=s) (b) Assam (3@#) (c) Tripura (fqw) (d) Haryana (=RamoT)

Q98. The ‘Gayatri’ mantra contained in the Rigveda is dedicated to which deity:-
for 4= % fBv T W f A @ i 2-

(a) Agni (af=)  (b) Marut (3/sa) (c) Surya (@@af) (d) Savitri (@nfast)
Q99. Which of the following is-not-a werk of Kalidas:-
ffefiaa sl # & F9 @ = Feiem § Fa 7@ oE -

(a) Ritusamhara (fgesrem) (b) Meghdoot (Fues)

(c) Kumarasambhava (@#mr=En)(d) Dashakumaracharita (ssmepmr=tear)

Q 100. Which one of the following is not a play written by Kalidas:-
frfofias & & &1 a1 Aed Felew g7 AT T4 -

(a) Malavikagnimitra (sfeasr=ifsr=) (b) Daridra Charudatta (eRs =mee=m)

(c) Vikramorvashiya (faw#dsia) (d) Abhigyan shakuntalam (afem weRaeq)

Q 101. Which of the following Countries is selected as a host of Commonwealth Games — 2018:-
ffefas @& @i & 3w 2 {59 &9 2018 &1 ‘FEaed @6 F A @ fow g m #-

(a) India %) (b) Pakistan(@feer) (c) Australia (smgferar) (d)  South Africa (| siwie)

Q 102. Who is holding the Constitutional position as ‘Leader of the House’ in Rajya Sabha:-
T59 |1 # afquiaes aR w T 3E o B @i 2 -

(a) Venkaiah Naidu @F&ar amg) (b) Arun Jaitely (3 eet)

(c) Rajnath Singh (awmmg f&7) (d) Sushma Swaraj (g =)
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Which of the following Cup/ Trophy is associated with the game of the Lawn Tennis:-
et &7 7/ o, ‘& e & wate & -
(a) Durand Cup (3= #7)(b) Davis Cup  (3fa| =)
(c) Ranji Trophy (o=t grdit) (d) Subroto Cup (gaHEr F9)
Which award is given to the coaches of Sportspersons:-
ffafeas & & @i @1 qeer v Rasnfzal & ‘@ @ gem G s -
(a) Dronacharya Award @ ge=Fr)  (b) Arjuna Award (359 T&5R)

(c) Kalidas Samman (Freem @=9=)  (d) Rajiv Gandhi Khel Ratna (wsitg Tt @& @)
A new Nuclear Power Plant is being set up in which of the following places in India:-

sRA # ferfoer e g’ fEw wew # awmr o @ #-

(a) Singur (firE) (b)Raipur (T@F) (c) Jaitapur (F=mgE)(d)  Joshi Math (Sinfws)
On 09 October 1949 the ‘Territorial Army’ was raised at the behest of:-
09 HFTH 1949 FY Refaer R &t =or fFas smen & 735 -

(a) General Zorawar Singh(s=we wiar f&®) (b) C Raja Gopalachari@ a1 i)

(c) Sardar VB Patel (#er =y wig w¢@)  (d) Dr S Radha Krishnan(o wa wremsmr)

Nobel peace prize for year 2014 was givento whieh ofthe following Pakistani National:-
A Wiy [EER af 2014 & 5w ifeEr Afger @@ e -

(a) Heena Rabaani Kher (&1 =t @)  (b) Naizia Hassan (Ffsrar =)

(c) Veena Malik (@=r #ferer) (d) Malala Yousafzay (e gqssrs)

The Secretary General of United Nation Organisation at present is:-

AT AT SAAESET & AiSfEl dhdl T # -
(a) Kofi Annan (@t 3= (b) Sophie Sangreal (@t &= )

(c) Ban ki-Moon @™ &t %7) (d) Boutros Boutros Ghali @ =@ =1=i)

Nobel peace prize for year 2014 was given to which of the following Indian national:-

a9 2014 FT AT AAA [EER WAT RS & e Ais w5 gem G mrn-
(a) M M Malviya (7 v wm=ifaar) (b) Kailash Satyarthi (@emr aearst)

(c) Atal Bihari Vajpayee (3ree faerit awmmt) (d) Khushwant Singh (gwae fae)

‘National Song’ of India was written by:-

HRA T AEE T & I F AW T -

(a) Ravindra Nath Tagore (fa= =% 2r) (b) Bankim Chandra Chatterji @&F o= i)

(c) Lata Mangeshkar (&rar %waz) (d) Noor Jehan(® ef)



